1. 3% 43"+ 3" IFeks] Uehyd?

©3x+1 @ 33x @ 27x @ 3x+2 @ 3x+3

3x 3% = 3!




2.

27
(3x1y?) = (x%y)t = x2y6 A, g +b-c 2 7e?

D1 @ 2 ® 3 634 -~

B

27 _
(Bx1y?)P + (x%y)* = x2y5 < Ae]stA
3P xaby2b o7
x8y4c — x2y6

i)3=27, b=3
i) x oA A% ab = 6 ©] HojoF SRR
a=2

iii) yi¢ oA 2|4+ 4c &= 12 7} Hojof stE R
c=3

L al+b-c=4




3. (@) xa®b? = (ab®)2-S 7ho] 5FHY

@ a6b10 @ a7b8 @ a10b16

@ o' ® a'%p®

a®b12 x a®b? + a?b® = a8




b
(-2x29)" x (<) = —241y7 & o, a4 b 9] & Fotelk

@ 4 @s ® 6 @ 7 ® 8

~&B

9 Xty Y AlGTt -2 o]ER g > b 0],
a,b % S 447 olmz

a=3,b=2

a+b=5




5.

210 x 3 x 58 2 & 2] o] 421717

O s 5 @ o @A %
@ 117219 5 ® 122489 £

228 x3x 58 =22x3x(2x5)8 =12x 108
w2bA] 10 2He] o] =0t




6. d®xy?x(x%y)P =9x° 4 W, A5 q, b, coll Hoto] ab+c O] FH2?

@ 10 @ 12 ® 13 @ 14 @21

a’xy? x (x2y)0 = a?x?Fy2h = 9xy06 0|82 g = 3, b = 4,
c=90°]|t}.
wEkA ab + ¢ = 21 0]t




7. 2100 o9 w450 - 4498 gof P A0 e H?

1 1 3 3 4
®Za @561 @Za @éa @ga

450 _ 449 — (22)50 _ (2249
— 9100 _ 998
— 9100 _ 9100 - 92

1
— 2100 (1 _ _)
4

— § x2100

3

= —a

4




3* 25y

oy = 2T T = 625 A, 64°x625" 9] Ap2] o] -5 Fhu?
@ 104+ @ 127 ® 172
@ 202+ @%xm

3x — 27 % 9—x+y — 33 X 3—2x+2y — 3—2x+2y+3
Tx=-2x+2y+4+3
25%1Y = 625 x 5 = 5% x 53 = 5P +4
L 2x+2y=3y+4
5 Ag Agatn
xX=095,y=26
647 x 625" = (26)5 x (54)6 = 230 x 524
= (10)% x 26 = 64 x 10%*

kb 26 242 o] 4rott.




